Mot-TT time diff.

hdiff_0

10°

107

10

1

Entries
M ean
RMS

3789

4.07
11.45

-500 400 300 200 100 O 100 200 300 400 500

diff time [nsec]




Rb-TT time diff. hdiff_1

Entries 3789
N L B I M ean -13.47
B RMS 6.41

-500 400 300 200 100 O 100 200 300 400 500
diff time [nsec]




Rb-M ot time diff.

10°

107

10 =

-500 400 300 200 100 O 100

hdiff_2

Entries

I L L B O B I I L L L B M ean

RMS

3789

-17.54

9.935

diff time [nsec]

200 300 400 500




TT spill interval

32000000, .. . . .

a2t
3.1999999? —
3.1999998; —
31999997 =
3.1999996 —

500 1000 1500 2000 2500 3000 3500 4000

O



